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Solving Two-Step Equations

reverse order.

A two-step equation contains two operations. To solve a two-step equation, undo each operation in

Solve —2a + 6 = 14. Check your solution.

Method 1 Vertical Method Method 2 Horizontal Method
—2a+6=14 Write the equation. —2a+6=14
—6=—6 Subtract 6 fromeachside. —2¢+6-6=14-6
—2a = 8 Simplity. —Za =8
2 _ 2 Divide each side by —2. =
a=—4 Simplify. a=—4
Check -2 +6=14 Write the squation.
—2(—4y+62 14 Replace a with —4 1o see if the sentence is true.
14 = 14 v The sentence Is frue.
The solution is —4.
Sometimes it is necessary to combine like terms before solving an equation.
3 Solve5=8x—2x—-1T7. Check vour solution.
b=8x—2x—17 Write the equation.
B=6x— 7 Combine like terms.
5+T7T=6—-T7T+7 Add 7 to each side.
12 = 6x Simplify.
% = % Divide each side by 6.
2=x Simplity.
The solution is 2. Check this solution.
Solve each equation. Check your solution.
1.2d+7=9 2.11=3z+5 3.2s—4=6
4, —12=5r+8 5. -6p—-3=9 6. —14=3x+x—2

7.5+ 2 —3c=10
16. 8 — 5b = —7

18.2+% =5
53
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£ 3+Tn+2n=21
11. 10 =6 — 4m 12, -3¢

14. -;iq —F=-3

16

9.21=6r+5—"Tr

+4=19

15 4 —

5

3.

Glencoe MAC 3

Copyright ® GlencoaMcGraw-HlI|, a division of The MeGraw-Hill Companies, Ine.




NAME DATE PERIOD

10-2 = Skills Practice
Solving Two-Step Equations

Solve each equation. Check your solution.

1.8n+4=17 2. 9=2s+1
3. 4c—6=2 ' 4, —4=2t—2
5. 8f—12=—3 6. 8 =4v + 12
7. 50—-6=9 8 2k +12=—-4
9, —5=13m — 14 10. 0 =8z + 8
11. 9¢ — 2= —2 ' 12, —8 + 4s = —16
13. —1=4— Bx 14. 5=9 — 2x
“; 15, —2x + 12 = 14 16. 1 —x =38
5
-
g 17, B 4 18. 11 =2 — 3x
-
2 .
£ 19, 12— 3x =6 20. —6x + 5 = 17
:
- 21. 13 =18 — bx 292, 4y + 2x + 2 =26
3
% 93, —18 = 9y — by + 10 24, —924 = 6q —15 — ba
§
5 25, 32— 17T+ 2z =13 26. 99 =4 + 8¢ — Ze
8
27, ~15=9r+1—Tr 98, 8h — 8+ k = 10
29, —97 =9 — T — B¢ 30. 11 = 18 + 3f + 4f
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